File S5
Proof of Result 5

At a symmetric equilibrium y = z, and also, by (32), § = . Thus (30) and (31)
imply that
[(s+1)(1—mp) —mplz+mg

T = po— (S5.1)

and

Substituting (S5.1) into (S5.2) gives the quadratic equation
(s+2)mp {sz® + [2—mp(s+2)]z — (1 —mp)} = 0. (55.3)

AsO<m,up <1,s>0and mp =m(1l — pug) + pup(l —m) > 0, x satisfies the equation
R(x) = 0 with R(z) given in (36). As 0 < mp < 1 we have R(0) < 0, and as R(+o0) > 0,

R(z) = 0 has two real roots, one positive and one negative. Observe that
R(1)=s+[2—=mp(s+2)] - (1—mp)=1—mp)(s+1) >0 (55.4)

and

R (1) - Z + % 2=mp(s+2)] — (1 —mp) = 2(1 —2m)(1 — 2up) (S5.5)

as1—2mp =1-2m—2up+4mup = (1—-2m)(1 —2up). Therefore when 0 < m, up < %

we have R(3) > 0and 0 < Z < 3.

10 SI text



